AX1733

Radiator braces
Sherco SEF300

What’s in the box ?

9 NE01-01-001 - TBHC 6x16mm screws
1 NE01-02-001 - TFHC 6x16mm screws
2 NE01-01-007 - TBHC 6x30mm screws
2 NEO1-03-006 - M6 large washers

2 PM03-02-014 - Black spacers 122mm

2 PM03-02-032 - Black spacers 100mm

1 PM03-01-022 - Alloy spacer 49mm

For better durability, you can use Loctite
271 on all the screws.

1
The paper instructions may E IE

be limitless, scan the QR
code to watch the tutorial —
video online. E .

Assembling instructions

Approximate time of assembly: 15 minutes.

Radiator guards are made to protect the vital components of your bike and does not have a « life warranty ».
If you notice a defect on your radiaor guards at reception, please write to contact@axpracing.com

Follow the steps

2

Fix the 122mm black spacers in Fix the alloy spacer on the right ~ Remove the plastics, the tank and
the top holes and the 100mm in guard using a TBHC 6x16mm the two OEM screws. Then place
the bottom ones with the TBHC SCrew. the front side and use the

6x16mm screws. OEM screws to fix it.

Put the rear side in place. Make ~ Place 2 TBHC 6x16mm screws in  Cut the bottom of the air deflectors
sure to pass the guard under the  the top and bottom holes to fix the for a perfect fitment with the

wires. 2 parts together without tightening.  guards. You must cut the closest
parts from the frame.



Clip the air deflector back in Place the front guard on the other ~ Tighten the screws and put the air Remove the electronic device. Place the rear part using the
place. side, and fix it with the two OEM deflector back in place. TFHC 6x16mm screw in the right
SCrews. hole and two TBHC 6x16mm
screws in the top and bottom
holes, without tightening.

Tighten the TFHC first. Then tighten the two other Put the electronic device back Tighten the screws on the other ~ Put the tank back and don't forget
SCrews. in place. side. to tighten the screw. Then, put
the plastics back in place and use
one TBHC 6x30mm screw + M6
washer on each side to fix it.

You’re all ready to ride !



